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T 2RF7T1 rnaHuesan | 2,4 | 0,7 40 75 HECTKMIA 10 -10 +90 nex 65
-
E 2LRF 712/001 ranuesan [ 28 | 1,2 50 | 80 | cFRRER 1 8 [ -10490 nBex 65
% 2 LRF 3712/001 . ranuesan [ 2,8 | 1.2 50 g |8 | 10590 nBex 65
=1 2xre718C 28| 07 40 GO 9 10 +90 nex 45
g rmAHLueBan | 2, 2 wecriwii =10+
B cpefHeit
2NT72 rnAHuesan | 4,5 2 100 S e 12 =10 +90 NnBx 45
2 LRF 705 SQPR W eadancian | 23| 05 40 cpeHed | g | 10,90 nex 65
N HECTKOCTH
2 LRNF 705 SQPR wsbenuian [2.35| 05 40 x'é"c?;ég?_r“w 8 | -104%0 nex 65
THMOKHK
Kpyrakle cpenHe
2 LRF 707 NP ey || 28] 07 40 henen 18 | -10490 nBx 55
2RF72FBIM mlen 56| a8 80 wecrinit | 8 | -5+80 nBex 73
2 RF 372 WT IM 55 ocBpastuiel 4,8 | 2 40 wecnait | 10 | =10490 nex 55
2RF 72 RT IM 55 anacnie| 6,1 | 2 60 secrknin | 10 | 10490 nex 55
BLICTY Nk
2RF72STIM peyronbhoe 5,3 | 2 70 secrimit | 10 | -10+90 nex 55
BLICTYNLI
3RF 371 rmanyesan | 3,7 | 0,7 80 HECTKMIL 15 -10 +%90 Nnex &5
INT1 rmaduesan | 4,3 | 0,7 100 HeXecTKHi 18 -10 +%0 nex 45
3N 371 rnaduesan | 4,4 | 0,7 100 HEXECTKHIA 18 -10 +90 nex 45
3RF72 rnaduesan | 4,9 2 120 HECTKMA 15 =10 +90 Nex 45
3N 319/309 MFRAS rmaduesas | 5,8 | 1,9 180 HeMeCTKMIA 18 -10 +80 nex 85
3N 33/315MFR AS rnaxuesas | 7,4 3 200 HENKECTKMIA 18 -10 +80 nex 85
1N 21 rmAHueBan | 2 0,7 25 HeXecTKMi g -10 +80 nex 80
_ | 1rwaF 907 NDP AS saxpymey- | 18 | 07 20 xecrant | 7 | ~10+80 ex 85
E 2 LRIAJF 204 rakyesan [ 2 | 04 25 Spemmen | g | —i0+80 nex 80
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2 NF 904 AS IM (noB.) rnanuesan | 2,3 | 0,6 50 HeXecTKMI 12 -10 +80 Nnex 85
2ZN21 rmaHuesan | 3,2 | 0,7 50 HENKECTKMIA 12 =10 +80 Nex 80
2LRF 272RT 55 snacimiel 4 | 2 50 SPemeR | g | 10480 nex 55
2 LRAF 905 NDP sakpymeu- | 2,7 | 0,5 40 EBELe 8 | -10+81 nex 80
HO pomMba HEeCTKOCTW
2 LRWAF 907 NDP AS pyrnes- | 2,9 | 07 50 cpeanei | 1 | _10.80 nex 85
HOro pomﬁa HECTKOCTW
2 LR(AJF 909 RB "Poanocy | 2.9 | 0.9 40 cpemneir | g | 19,00 nex 35
PY4YEH HEeCTKOCTW
3R(AJF 21 rnaduesan | 34 | 0,7 80 HECTKMI 15 -10 +80 nex 80
IN21 rmauesan | 4,3 | 0,7 100 HeMecTKMi 18 -10 +80 nex 80
3RF 282 rnaxyesas | 4,9 2 100 KECTKMIA 15 =10 +90 Nex 85
SILON 40 HC detp 4 - 50 HEXeCTKHIA 10 |-20+120 Detp -
nonu- _ 7
3 LRWAF 901 screpui | 3| 0,1 100 e | 12| 10480 Monuscrep -
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